ot
op

" " 55%

L ERE FERENE t=5cm

—REER
2500 7010 2490
500 2000 500 3030 2980 1990
ol
[
¥ i FH -
— 2 R
I - '3 As
HEERe
t= dem =B %2 411 FE As (37 20FH) t=5cm
(RC-40) t=15cm [EE  OM#EAs(20)  t=bem

1:3_5
R

B kBEEt

ot
EAs (13F) A" 1" 5%
v ¥ —5 > RC-40)

t= 4cm
t=15cm

>

£ 0 B E KX

TEREETIER

S=1: 50(A3 1:100)

2540

FAR

7000

2470

500

2040

500

2990

3010

500

1970

500

1340

1200

FH

&

3

=]
RIE B I EEAs (¥ 20FH) t=5cm
HE @R

t=bcm

LERE FHRENE t=bcm

1200

1270

“vh 35%  t= bom
< > (RC-40) t=25cm

FRBEE RE $2015
ARMIARSERRIE
Z % B W E K ‘,ﬁR $=1:50(A3 1:100)
L B FRTREIFE2TAM # A
= ‘% ‘3‘;‘ W ] &
o W i3 o B m
5
R mREKKRMRESRR




